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3. {5%) Can a correct Tlme class definition include both of the following construstors? If
not, explain why not.
Time {int b=0, int m=0, int s=0);
Time ();

4. (15%) EETWHMWC %O~ 2RI - BEEEN=S -

(1) {True/False) A derived class is often called a subclass because it represents a subsct of its
base class. —

(2) {True/False) A pointer that is declared to be void can not be dereferenced. )

- (3) {True/False) A const member function may be overloaded with a non+const
. version,

(4) (True/False) Not providing an overloaded assignment operator and a copy
constructor for a ¢lass when objects of that class ¢ontain pointers to dynamically
allocated storage is a logic error.

{5) (True/Filse) The default case is required in the switch selection structure,
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7. (10%) #5% TR ZREERRY (REESIRE CRAZFRELRE
EERLERFERRL) -
void mysteryl {char *, const char *);
int main ()
{
char string] [80], string2[80];
printf{*Enter two strings: *);
scanfi{*%0s%s", string1, string?);
mysteryi{siringl, string2);
printf (** Yas”, string1);
return O
}
void mysteryl{ char *sl, const char *s2)
{
while (*al I=*0")
++sl;
for (; *sl =*s2; s1++, s2++) ‘
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8. (25%) Find the error{s) in each of the following and explain how to correct it:
(a) class Example {
public:
Example (int y = 10} {data =y; }
int getIncrementedData ( ) const { retum +-+data; }
static int getCount( )
{
cout << “Data is “ << data << endl;
return coumt;
h
private:
int data;

static i _DoullE,

b

{(b) char *siring;
string = new char[20];

free ( string )
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